For these fill in any missing statements or reasons. =
2. Given: PQ=RS, and £PQS=£RSQ

1. R
leen AB=DE, «B=«E, and LANAD

Prove: AABC=ADBC
Prove. AABC=ADBC Statements | Reasons
Statements | Reasons 1. 1. Given
1. AB=DE 1. Given 2. 2. Given
2. 2.Given 3.Q5=QS 3.
3. 2A=/D 3. 4. APQS=ARSQ 4,

4. AABC=ADEF 4,
4. Given: £L=«N, 2ZLOM=£ZNMO

3. M
. AR~DE AC=DF and BCoEF N
Given: AB=DE, AC=DF, and BC=EF :
B E
A DQ L 0
C F .
Prove: ALMO=ANOM
Prove: AABD=ADEF
statements | Reasons Statements | Reasons
1. AB=DE 1. 1 1
:2)" g 2. 2. Given
4' 4' $SS 3. 3. Reflexive Property
X ) 4. ALMO=ANOM 4,
5z 6.
Given:ﬁbizects BD, 2A=¢E Given: PQ||ST, PR=TR
S
P
R
D—C B
T
Q
E
Prove: AABC=AEDC Prove: APQR=ATSR
Statements Reasons
1. 2A=/E 1, Statements Reasons
2. 2. Given 1. PR=TR 1. .
3. 3. Definition of Bisect 2. 2. Given
4. £ACB=/DCE 4. 3.4P=£T 3.
5. AABC=AEDC  |5. 4.£ACB=<4DCE | 4.
51 5. ASA
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7. Given: LM=NO, and ZM=20 8. Given: AB=DC

M C
N B
P L 4
]
L A D
0
Prove: AMPL=ANPO Prove: AABC=ACDA
Statements |Reasons Statements | Reasons
1.LM=NO 1. 1. 1. Given
2 2. Given 2. AC=AC 2.
3. 3. 3. AABC=ACDA 3.
4 4, AAS
9. . _— e — — = N
Given: PQ=5U, QR=ST, and P1B=T 10.  Given: N is the midpoint of MO, LM=OF, and
Q LN=PN
M N 0
S
P R
0]
L p
Prove: APQR=AUST
| ‘ Prove: ALMN=APON
Statements l;e?;?OI]& Statements Reasons
1 - (GIVIET 1.LM=0P 1. Given
2 2. Given 2. IN=PN 2
3. 3. ol 2 . i S D
3. N is the Midpoint of MO | 3. Given
4, APQR=AUST 4, 4. P 4, Midpoint
5. 5.SSS
11.

Given: C is the midpoint of BE, 2B=ZE, and 12. Given: QT bisects SP, SP bisects QT
AB=DE

A D Q >
R
B C E P i
Prove: AQRP=ASRT
Prove: AABC=ADEC
Statements Reasons Statements Reasons
1.£B=ZE il 1. QT bisects SP 1. Given
2. AB=DE 2. 2. 2. Given
3. 3. Given 3. 9__53 3. Definition of Bisect
4, 4. Midpoint 4, PR=S 4,
5. AABC=ADEC 5. SAS 5. 5. Vertical Angles
6. AQRP=ASRT 6.
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13. Given: LM=NO 14.  Given: AB=DC, AB||DC, and BC=CE

A D
M N
L]
L0 0
Bl ffe e
Prove: ALMO=ANOM Prove: AABC=ADCE
Statements |Reasons Statements Reasons
1. LM=NO 1. 1. AB=DC 1. Given
2. 2. 2. 2. Given
3. 8. 3. 3. Given
4, 4, Corresponding Angles
5. AABC=ADCE 5.
15. Given: PR|[QS, £QPS=£RSP 16. Given: LP bisects MO, LO||MP
P ...
b R L M
N
0]
Q . S P
Prove: APQS=ASRP Prove: ALNO=AMNP
Statements Reasons Statements Reasons

1.PR||QS 1.
2. £QPS=/RSP 2. y 2. Given
3. 2PSQ=+£5PR 3. Alternate Interior .LN=P 3

1 1. Given

2

3 }
4 4., Reflexive Property 4, 4, Alternate Interior

5

6

5. AABD=ACDB 5. 5. Vertical Angles

6. ASA

17.

Given: AE bisects BD, AB||DE 18. Given: Q is the midpoint of PR. PS=QT and

QS=RT R
A
P
C
B

S

Prove: AABC=ADCE
Prove: APQS=ARQT

Sta_tEments — Reasons Statements Reasons

1. AE bisects BD 1. 1. 1. Given

2. 2. Given 2. 2. Given
3.BC=DC 3. 3. QS=RT 3.

4, LACB=¢£DCB 4, 4. 4. Midpoint
5. 5. Alternate Interior 5. AABC=ADBC 5,

6. 6. ASA
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19. Given: AB=DE , BC=EF, and «B=<E

B E

AN

N

Cp

Prove: AABC=ADEF

21. Given: JK=MN, KL=NO
K

Prove: AJKL=AMNO

23.
Given: 2P=,S, £Q=+T,and QR=TU
T
P R S u

Prove: APQR=ASTU
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20.

22.

24,

Given: Z]

Given: PQ=TU, £P=£T, and 2Q=2U

QL

Prove: APQR=ATUS

Prove: AABD=AFDE

2M, JK=MN andzK=sN

IR

~

J L N

Prove: AJKL=AMNO



25. Given: AB=CD, 2ABD=«CDB
B

A D

Prove: AABD=ACDB

27. Given: IM=JM
L

]
Prove: ALKM=AJKM

29.
Given: -P_S-EQI—D\, _P_QES_

P Q

Prove: APRS=ARPQ
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26.  Given: PR=TR, £P=4T

P
S
R
Q

T

Prove: AABC=ADBC

28. Given: AB=ED, £A=/D
B D

Prove: AABC=ADCE

30. Given: JN Bisects ML, zZM=£L

Prove: AMJK=ALNK



31. Given: C is the midpoint of AE , BA=DE, and
LA=LE
B D

A E

Prove: AABC=AEDC

33. Given: zZK=«N, Jk=MN, KL=NO
N

J LM 0
Prove: AJKL=AMNO

35.
Given: PQRS is a parallelogram

p Q

R S
Prove: ARPS=AQSP
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32. Given: R is the midpoint of PT, 2ZP=£T, and
<PRQ=<£TRS

Q S

2 ¥ T

Prove: APQR=ATSR

34. Given: BA||CD £ADB=£CBD
B

A D

Prove: AABD=ACDB

36.
Given: KN bisects JM, }Tru_

Z

K

J
Prove: AJKL=AMNL





